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IB Types of Questions for your Practice

, 3 .
Given that tan 26 = . find the possible values of tan@.

B | 1 1
(a)  Given that arctan [%J + arctan (g] = arctan [—J ,where peZ”, find p.
. P

| ' \ if ,
(b) Hence find the value of arctan (%J + arctan [5) + arctan (—éj :

Solve the following for 0 = x = 2w,

A, 2-50r = 2ens X b J3cosx + sinx = 0
C. Asinr—cos2x = |1 d. sin2x+ sinx = 0

- . 1
=y Jasing + cosx = 0 f. gsinx — J2cosx = i'ﬁ’

3. (4) 2-Sny= Rl0s%,
W (os2 = /-Su

P Q- Siax = 20)-Sin)
R Sax =\Q-25n3X

+2 Satk T2 Sy

R Sa*x~Snax = O
Siax ( QSinx~1) =0 0 0, 277
O Shax=o @ gMX:E

x 02.767 ﬁ@




(5)  V3cosx + Siax = O o= (ﬁﬁx
i T Ok
(OS54 ©sx (0sx % o
> y
=5 [0/ 277 =
T
z
-
(c) 38inx — os2X =/ (@ae,x = /-2 5n %)

==
3Say — (/—‘ RSax) =/
SSiax =1 +2 Sa*x =/ =0
RSintX +3Siax —X =0

<L Sinx —/
Sinx + 2

> (251 )Ginr ) =0

S:‘a)z - 3{ §><2



(d) Sa2x +Sax=0
RSaxcosy + Smx = O
Sing (R (08X +1) = O

SinX =0 cx =t
Cpsx o

X20,, 2t x= 2% 4K
3, 3

€. I3Siax +ceosx =0
T S Sine
~\I'3’ -t (07")< =0

1,
<,




Name: Group Members;

Exploration 5-2a: Linear Combination Dae:
of Cosine and Sine

Objective: Write the linear combination y = b cos 8 + ¢ sin @ us y = Acos (0 - D),
a sinusoid with a phase displacement.

The expression on the right in the equation 7. Ixpress as nggha“.i wi_m phase displacement:
y=3cos@+4sind ymfilz Cos G}l@n B__}
. o~ e
is called a linear combination of cos 8 and sin 8. That is, y Use the next wwdiagram to find the amplitude A and
equals a conslant times cosine, plus a constant limes sine. the phase displacement D. Show that D is a value of
In this Exploration, you will learn how to express such a arctan ;%5 but not the value of tan™! :%5 that your
linear combination as ¢ cosine with a phase displacement. calculator gives you,

1. The graph shows
¥ = 3 cos and y,=4sin8
Which graph is which?

y = AELRE
8. Express as a cosine with a phase displ

y=-6cos9—1)sind

2. Plot y, and sketch it on the figure. . % o ; $ 565 (‘ _B " Lgb?'{'

ya=3cosf+4sing

3. The graph of yy is a siousoid. Find the amplitude A

and the phase displacement D using the MAXIMUM rﬂé(‘f I “\1 . ;

feature of your grapher. f m 7[ =) ( ..f.{)

A= e [_-i%.:.ﬂ p=__63 | "'“Ly _ AJ‘ £ f)‘gi
4. Plot ys = A cos (8 — D) using Problem 3 results. “3\

Does the graph coincide with )47 _SW S} °§ j lj-m_.m o, f (' Y 72;‘?(. 4 N )

- g ™ ey

5. The wwdiagram here shows an angle with u = 3, the y= ¥ i-‘; 1 0 $ ¥ o

coefficient of cosine in wy, and v = 4, the coefficient 0. Express as a cosine with a phase displacement: c;} (,L o

of sine. Show that the hypotenusc equals A [rom . ] / . "f}‘{

Problem 3. y=9cosf-7sinf

v
%, g Slnc i:‘s-ulJ e u B
¢TI RAY
u
X y
o A P r—
A<l 2508 \H%’U
| ol d = Xla¢ (X+37.9°
il o ] 7 ?

6. Show Lhat the angle I in Problem 3 is a value of y= ‘.7 Y /O 'Q e * Y

arclan 4, as shown in the figure in Probiem 5.

VNI

s #in "
‘ 1130 R (08 (X —229 )"
D= arcton () ? (X =322/

3|/
o oespo | P A (-~D)
53 Aeg  D=&3, ]
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